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’ 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
ZTh st 1.00/ 000 ~ 492 61.33] #hLls |000 ~ 0.00| 1.71 9.17 ZTh LS 1.00] 500 ~ 520 61.33] ZhLlst | 500 ~ 520 1.71 9.17
5 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEBZD -~ - - -
ZTh st 1.00/ 000 ~ 7.29 92.84| ThLls |0.00 ~ 7.29] 1.89 10.11 ZTh s 1.00] 500 ~ 9.70 9284| #hilst | 500 ~ 970 1.89 10.11
3 100kN/mM%#BZ % 1.00/0.00 ~ 059 108.69|3mZi#BRDH| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.67 ~ 12.30 108.69[3m%i#BZ % -~ - - -
ZTh st 1.00/ 059 ~ 837 100.00f Zhlist (000 ~ 837 227 1217 ZTh LS 1.00] 500 ~ 10.67 100.00] Zh st | 500 ~ 1230 2.27 1217
4 100kN/m#%#BZ % 1.00/0.00 ~ 059 108.69|3mZi#BRDH| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.67 ~ 12.30 108.69|3m%i#BZ % -~ - - -
ZTh st 1.00/ 059 ~ 837 100.00f Zhlist (000 ~ 837 227 1217 ZTh s 1.00] 500 ~ 10.67 100.00] Zh st | 500 ~ 1230 2.27 1217
5 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#Bx 5 -~ - - -
ZThLst 1.00/ 000 ~ 6.65 83.92| ThLls |0.00 ~ 665 1.74 9.32 ZTh LS 1.00] 500 ~ 8.00 83.92| #hLis | 500 ~ 8.00| 1.74 9.32
6 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/ 000 ~ 6.65 83.92| ThLls |0.00 ~ 665 1.74 9.32 ZTh LS 1.00] 500 ~ 8.00 83.92| #hLis | 500 ~ 8.00| 1.74 9.32
7 100kN/mM%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2 5 -~ - - -
ZTh st 1.00/ 000 ~ 7.69 98.67| ThLls |0.00 ~ 7.69] 248 13.27 Zh LS 1.00] 500 ~ 11.78 98.67| ThLls | 500 ~ 11.78] 2.48 13.27
8 100kN/m%#BZ % 1.00/0.00 ~ 068 11017 3mZBRS| - ~ - - -] 100kN/mM%E#B 2% 1.00| 10.96 ~ 13.22 110.17|3m%#BZ 5 -~ - - -
ZTh st 1.00/ 068 ~ 847 100.00f Zhlist [0.00 ~ 847 205 11.00 Zh LS 1.00] 500 ~ 10.96 100.00] Zh st | 500 ~ 13.22) 2.05 11.00
9 100kN/m%#BZ % 1.00/0.00 ~ 050 107.46[3mZi#BRDH| - ~ - - —-| 100kN/mM%#B 2% 1.00| 11.54 ~ 13.39 107.46[3m%#BZ 5 -~ - - -
ZThLlst 1.00/ 050 ~ 8.29 100.00f Zhlist [ 000 ~ 829 2.00 10.68 ZTh LS 1.00] 500 ~ 1154 100.00] Zh st | 500 ~ 13.39] 2.00 10.68
10 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZTh st 1.00/ 000 ~ 6.62 83.55| ¥hLis |0.00 ~ 0.00] 1.63 8.74 ZTh LS 1.00] 500 ~ 8.30 83.55| #hLls | 500 ~ 830| 1.63 8.74
11 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/0.00 ~ 429 53.56| ThLls |0.00 ~ 4.29] 212 11.35 ZTh LS 1.00] 500 ~ 570 53.56| ThLls | 500 ~ 570 2.12 11.35
12 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2x B -~ - - -
ZThLlst -l -~ - -| FhLst -~ - - - Zh LS - -~ - -| ZhList -~ - - -
13 100kN/m%#BZ % -l -~ - -|3mZEBZB| - ~ - - —-| 100kN/mM%#B 2% - -~ - -|3m%EBZ5 -~ - - -
ZTh LSt -l -~ - -| FhList -~ - - - Zh LS - -~ - -| Zhiist -~ - - -
14 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
ZTh st 1.00/ 000 ~ 452 56.32| ZhLlst |0.00 ~ 452| 2.10 11.22 ZTh LS 1.00] 500 ~ 590 56.32| #hLls | 500 ~ 590| 2.10 11.22
15 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - -
Zzh s 1.00{0.00 ~ 516 64.29] ZnLis | 000 ~ 5.16[ 1.94 10.36 Lt 1.00f 500 ~ 6.00 64.29] Zn L4t | 500 ~ 6.00] 1.94 10.36
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16 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
ZTh st 1.00/ 000 ~ 527 65.72| #hils | 000 ~ 527| 193 10.32 Zh st 1.00] 500 ~ 6.14 65.72| #hilst | 500 ~ 6.14] 1.93 10.32
17 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - —-[3mZEEZS -~ - - -
ZTh st 1.00/ 000 ~ 558 69.68| #hLlst |000 ~ 558| 211 11.29 ZTh s 1.00] 500 ~ 7.90 69.68| #hbLlst | 500 ~ 7.90| 211 11.29
18 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - -[3m%E#BZ B -~ - - -
ZTh st 1.00/0.00 ~ 501 62.49| #hbList | 000 ~ 501| 1.85 9.92 ZTh LS 1.00] 500 ~ 550 62.49] #h L4t | 500 ~ 550| 1.85 9.92
100kN/m#%#BZ % ~ ImEBZD ~ 100kN/mM%Z#8 % % ~ ImEBZS ~
ZTh st ~ ZNLS ~ ZTh s ~ ZH LS ~
100kN/m%#B% % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZThLst ~ ZNLs ~ ZTh LS ~ ZH LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZThLst ~ ZHLS ~ ZTh LS ~ ZNLUS ~
100kN/mM%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZNLS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZHLS ~ ZTh LS ~ ZN LS ~
100kN/m%#B% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ZTh st ~ ZNLS ~ ZTh LS ~ ZHN LS ~
100kN/m#%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLst ~ ZNLS ~ ZTh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh LSt ~ zh st ~ Zh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh st ~ zh st ~ ZTh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZhLlst ~ Zh LS ~ Zh LS ~ st ~ |
=5FR



